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1(0022400)

Soft aluminum tubing (1100, 3030, or 5052) may be bent by hand if
the size is
(A) 5/16inorless. (B) 5/8inorless. (C) 1/4in or less.
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2(0051794)

Immediately downstream of an oblique shockwave is always (A)
supersonic. (B) the same as upstream. (C) slower than upstream.
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3(0051969)

Repairs or splices involving stringers on the lower surface of stressed
skin metal wing are usually (A) not permitted. (B) permitted only
if the damage does not exceed 6 inches at any direction. (C)
permitted but are normally more critical in reference to strength in
tension than similar repairs to the upper surface.
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4(0022212)

As a general rule, if MS20426 rivets are used the edge distance should
be (A) 2D (B) 25D (C) 3D
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5(0051652)

In pressurized aircraft, undercarriage(landing gear) bays (A) are
unpressurised. (B) may be pressurized or unpressurised. (C) are
pressurized.
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6(0051520)

A silencer is installed in a pressurization system to reduce (A) the
noise from the blowers and/or compressors in the system. (B) the noise




from the high speed of airflow within the system. (C) engine noise
coming through the ventilators.
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7(0022477)

The maximum pressure altitude attainable (A) is limited by the
maximum pressure differential the cabin will withstand. (B) may be
found on the aircraft's Type Certificate Data Sheet. (C) is stamped on
the outflow valve.
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8(0051473)

An inward relief valve is installed in a pressurization system to ensure
that the pressure hull of an aircraft is not subjected to (A) too high an
internal pressure. (B) a high negative differential pressure. (C) forces
which would cause the aircraft to explode.
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9(0051903)

The maximum altitude loss permitted during an unpressurized aircraft
instrument static pressure system integrity check is (A) 50 feet in one
minute. (B) 200 feet in one minute. (C) 100 feet in one minute.
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10(0028648)

What type of speed is divided by the speed of sound to get the mach
number? (A) ground speed (B) indicated airspeed (C) true airspeed
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11(0051500)

The international emergency frequency used in VHF communications
is... (A) ... 131.55 Mhz. (B) ... 121.5 Mhz. (C) ... 118.00 Mhz.
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12(0051882)

The main purpose of the fuel tank boost pump is to ... (A) ... transfer
the fuel. (B) ... jettison the fuel. (C) ... provide a positive flow of fuel
to the engine.
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13(0022478)

The component of an aircraft pressurization system that prevents the
pressure inside the cabin from being less than the ambient pressure is
the (A) outflow valve. (B) safety valve. (C) negative pressure-relief
valve.
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14(0051503)

What isolates the left from the right wing pneumatic duct? (A) a check
valve (B) a bleed valve (C) a cross-bleed valve

T e ¥R % 2+ ¥ 2 pneumatic duct? (A) a check valve (B) a bleed
valve (C) a cross-bleed valve

15(0051479)

With a pressurised aircraft at maximum differential pressure and a
cabin pressure increase occurs, the differential capsule in the pressure
controller will (A) have a constant mass flow. (B) let pressurisation to
be switched off until leaks cause a drop in pressure. (C) let all
pressurising air to be spilled overboard.
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16(0051522)

If an aircraft is operating at 40,000 ft. the pressurization ensures that
(A) sea level pressure is maintained in the cabin. (B) the cabin pressure
is progressively increased until the operational height is reached. (C)
the cabin pressure is equivalent to an altitude of less than 10,000 ft.
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17(0051864)

How can it be determined that a vapor-cycle cooling system is charged
with the proper amount of freon ? (A) Air bubbles in the sight glass
disappear. (B) The compressor loads up and RPM decreases. (C) Air
bubbles appear in the sight glass.




Yo P FERRE F BTRA AT RS v B hd 15 (A) BIARLE P
Efie (B) Rugf im= d 2 @gadre (C) gty p HmF

e

18(0052153)

What happens when a zone supply duct overheats? (A) You must
switch off the packs manually. (B) Only the trim air valve for the
overheated duct closes. (C) The trim air pressure regulating valve
closes first.
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19(0051880)

Which prevents a sudden loss of pressurization in the event that there
is a loss of the pressurization source? (A) firewall shutoff valve (B)
cabin pressure outflow valve (C) delivery air duct check valve
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20(0051466)

Failure of the normal maximum pressure differential control is allowed
for the installation of (A) water ejector. (B) airport altitude selectors.
(C) safety relief valve.
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21(0051469)

Which is NOT the role of the pneumatic controller? (A) to monitor
pressure and temperature (B) to register leaks (C) to assist the engine
control
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22(0051877)

The function of an expansion valve in a freon cooling system is to act
as a metering device and to (A) reduce the pressure of the gaseous
freon. (B) increase the pressure of the liquid freon. (C) reduce the
pressure of the liquid freon.
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23(0028646) B | What type of air speed is NOT used in commercial airplanes? (A)
indicated airspeed (B) equivalent airspeed (C) calibrated airspeed
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24(0051315) A | The flux detector element (A) gives heading with respect to magnetic
north. (B) changes it’s position after the aircraft heading is changed.
(C) changes heading with the heading of the aircraft.
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25(0051281) C | The sensing element of the flux valve (A) aligns itself to the new
heading of the aircraft after it has stabilised. (B) aligns itself to the new
heading as the aircraft turns. (C) remains in the same position attached
to the aircraft structure.
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26(0022659) A | The rotary Variable Differential Transformers (RVDTS)
change ? into electrical signals. (A) angular
displacement (B) variable displacement(C) linear displacement
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27(0051193) A | The crab angle of the aircraft during VOR or LOC modes is displayed
by the (A) difference between the course arrow and aircraft heading.
(B) difference between the selected heading and aircraft heading. (C)
selected course counter.
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28(0051070) C | When you do a cabin pressure leakage test, the pressurization is done
in ... (A) ... the automatic mode. (B) ... the pre-pressurization mode.
(C) ... the manual mode.
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29(0028478)

Which ATC mode is used to transmit a 4 digit number of aircraft
identification code only? (A) mode A (B) mode C (C) mode S with
TCAS installed

7RiE ATC #5 » & 5% j\,_a;gi%]%q_w 4 p"ﬁﬁ;q_ gk 2 (A)
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30(0050864)

In a transistor voltage regulator, the voltage output is controlled by (A)
zeners and transistors. (B) transformers and transistors. (C) diodes and
transformers.
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31(0022476)

In aircraft pressurization, the degree of pressurization is normally
controlled by (A) an outflow valve that regulates the rate of escaping
air. (B) a mixing valve that blends the incoming pressurized air on a
demand basis. (C) a pressure regulating valve at the engine bleed
valve.
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32(0051508)

If cabin height is set lower than airfield height when the aircraft is on
the ground with squat(weight-on-wheel) switches overridden, then the
outflow valve will normally (A) open. (B) remain closed. (C) not
operate.
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33(0051513)

If an altitude of 8000 feet is selected on the cabin pressure controller
and provided maximum cabin pressure differential is not exceeded. (A)
8000 feet cabin conditions will be maintained at all aircraft altitudes
from sea level. (B) sea level cabin conditions will be maintained to
8000 feet aircraft altitude. (C) 8000 feet cabin conditions will be
maintained at aircraft cruise altitude.
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34(0051496)

The control of ventilating and pressurising air released to atmosphere
is achieved by a (A) pressure controller/drain valve combination. (B)
pressure controller/discharge valve combination. (C) discharge
valve/inwards relief valve combination.
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35(0051861)

What controlls the operation of the cabin pressure regulator ? (A)
cabin altitude (B) bleed air pressure (C) compression air pressure

PEEFEAgR A G BauEic (A) E438 & (B) A5 &4 (C)

36(0051876)

If the cabin rate of climb is too great, the control should be adjusted to
cause the (A) outflow valve to close slower. (B) outflow valve to close
faster. (C) cabin compressor speed to decrease.

dod BagR Fo & Pl g R AR (A) IR B R - B
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37(0051470)

A negative differential pressure is prevented by (A) a blow off valve.
(B) a spill valve. (C) an inward relief valve (negative pressure relief
valve).

B ARTEd (A - BRER.(B) - BFEAR.(C) - B
P R RBRR).

38(0051466)

Failure of the normal maximum pressure differential control is allowed
for the installation of (A) water ejector. (B) airport altitude selectors.
(C) safety relief valve.

T F 2 B RS L E A ik iF 0 TR K (A) FrokE (B)
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39(0051467)

To what position is the inward relief valve (negative pressure relief
valve) spring loaded? (A) Closed. (B) Both position. (C) Open.

wPhARR(EBRARR)ZES LA o BRRAOEZE 2. (A) B
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40(0022481)

When the landing-gear oleo is compressed, the squat switch (weight-
on-wheel switch) causes the dump valve (outflow valve) to (A) close.
(B) open. (C) modulating.

HE T (e > Fd ob S #E(dump valve / outflow valve) & ie i
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41(0022480)

Which is the component of an aircraft pressurization system that
prevents the pressure inside the cabin from being overpressured? (A)
safety valve (B) outflow valve (C) negative pressure-relief valve.
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42(0051900)

What will be the result if the instrument static pressure line becomes
disconnected inside a pressurized cabin during cruising flight 7 (A)
the altimeter and airspeed indicator will both read low (B) the altimeter
and airspeed indicator will both read high. (C) the altimeter will read
low and the airspeed indicator will read high.
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43(0051258)

Track altitude in a radio altimeter system begins at (A) 1,000 ft radio
altitude. (B) 2,500 ft radio altitude. (C) 10,000 ft radio altitude.
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44(0028631)

If a static pressure system check reveals excessive leakage, the leaks
may be located by... (A) ... pressurizing the system and adding leak
detection dye. (B) ... by systematically isolating and testing each
portion. (C) ... removing and visually inspecting the line segments.

Ik R AR A FRBERE O NET 2D AR (A)..
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45(0028627)

When is an aircraft magnetic compass swing to update the compass
correction card? (A) After a daily inspection. (B) After a compass
service. (C) After a flux valve replaced.
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46(0022483) In order to be a free gyro, a gyro must be (A) operating in a vacuum.
(B) securely attached to the instrument case. (C) mounted on rings
constructed from a gimbal.

REBRT I ER S RRLE? (A) BEZTHEE (B)
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47(0051076) An Automatic Flight Control System receives inputs from the
following ground based transmitters: (A) VOR, ILS. (B) RA, ADF,
ILS. (C) DME, ILS, ADF.

Bods Rl BT A AR B R S8 S 4Tl ~ 7 (A)
VOR, ILS. (B) RA, ADF, ILS. (C) DME, ILS, ADF.

48(0051230) Which two frequencies are paired? (A) Glideslope and localizer. (B)
Localizer and ATC Radar. (C) ATC Radar and Glideslope.
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49(0051120) In an INS (Inertial Navigation System) system the accelerometer is a
mass (A) suspended in free air. (B) suspended between two springs in a
tube. (C) a remotely mounted mass on the airframe.

AP ES R R - AR (A) BHAZF Y. (B)
RhoaFgr s BEF2ZF (C) Aaipdad- B> % EDFHR.

50(0028469) A flux valve is used to calculate the ... (A) drift. (B) track. (C)
magnetic heading.

BARR® kP E T2 (A) #5 o (B) #ur o (C) B
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51(0051288) The Directional Gyro is checked every 15 minutes for. (A) toppling.
(B) drift. (C) erection.
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52(0028471) Which frequency is used for aircraft VOR navigation? (A) 1.260 MHz

(B) 104.50 MHz (C) 112.50 MHz

FRBAE K B % (F s VOR 42 (A)1.260 /v 4 (B)104.50
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53(0022505)

DME provides the following information to the crew: (A) bearing to a
navigation aid. (B) deviation from a selected course. (C) distance to a
navigation aid.

DME# £ fiF ek 4 2 (A) &4nk B (B) & Hiusic
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54(0050827)

Whilst operating paralleled AC constant frequency generators, it is
important to maintain generator outputs at the same voltage (A) to
prevent a circulating current of considerable magnitude developing
between two or more generators. (B) to prevent a circulating current
developing between two or more TRUs. (C) to prevent CSD shock
loading.
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55(0028674)

What is the main function of the load shedding? (A) To switch any
generator off to prevent an overload of the remaining generator. (B) To
switch the large load consumers off to prevent an overload of the
remaining generator. (C) To switch all consumers off to prevent an
overload of the remaining generator.

load shedding & i & # it 52 @2 (A) MFE- BHFETH > P2t
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56(0050789)

A battery in situ on an aircraft. (A) may charge slowly if initial battery
voltage is low. (B) charges at a fairly constant rate because generator
voltage remains constant. (C) may charged at an excessive rate if initial
battery voltage is low.
TALBEPBRREE Y (A) ARV EAER O wETRA T
BIS.(B) 0 MRLRTF RAT SEPPY P
FrE.(C) e MR LR FRALT > Aok TIA 4T R

57(0022663)

Where does the GCU(Generator Control Unit) get its power? (A)
PMG(Permanent Magnet Generator) (B) Battery (C) RAT(Ram Air
Turbine)
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58(0050633)

In fully Fly By Wire aircraft, wing root bending moments are reduced
by (A) transfer of fuel from one wing tank to another. (B) operation of
the elevator. (C) symmetrical application of ailerons.
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59(0050581)

When using Biopor microbial fuel growth treatment (A) it is added to
the fuel for anti-bacteria purpose. (B) it is applied for drying fuel tank.
(C) it is applied wet and flushed out.

Biopor’t i fe 4 F BB Az * ik 5 (A) 4o 2 W 4 0 B A P
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60(0022550)

If it is necessary to enter an aircraft's fuel tank, which procedure should
be avoided? (A) Continue purging the tank during the entire work
period. (B) Station an assistant outside the fuel tank access to perform
rescue operations if required. (C) Conduct the defueling and tank
purging operation in an air conditioned building.
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61(0022581)

The removal of air from an aircraft hydraulic system is generally
accomplished (A) through automatic bleed valve. (B) by operating the
various hydraulic components through several cycles. (C) by allowing
the system to remain inoperative for several hours.
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62(0050512)

A purpose of a 'fuse’ in a hydraulic system (A) is to prevent creep in
jack operated services which have several selected positions. (B) is to
limit loss of fluid in the event of pipe fracture. (C) is to relieve the
pump of load when the operation of services is complete and the
accumulator charged with ~ fluid.
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63(0022568)

What is the main purpose of a pressurized reservoir in a hydraulic
system? (A) Prevent tank collapse at high altitude. (B) Prevent
hydraulic pump cavitation. (C) Prevent hydraulic fluid from foaming.
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64(0022589)

Some aircraft are protected against aircraft icing by heating the leading
of the airfoils and intake ducts. When is this type of anti-ice system
usually operated during flight? (A) continuously while the aircraft is in
flight (B) in symmetric cycles during icing conditions to remove ice as
it accumulates (C) whenever icing conditions are first encountered or
expected
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65(0052046)

A cabin entry light of 10 watts and a dome light of 20 watts are
connected in parallel to a 30-volt source. If the voltage across the 10-
watt light is measured, it will be (A) equal to the voltage across the 20-
watt light. (B) half the voltage across the 20-watt light. (C) one-third of
the input voltage.
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